

GODSPEED REFRIGERATION AND AIRCONDITIONING SERVICES

7,500.00

Customer Name:	DARYL ONG	Date:	OCTOBER 15 2025	
Customer Address:	MARIPOSA ST. COR. MILFLORES GENEVA GARDEN NORTH FAIRVIEW QC			

Qty	Unit Model	Unit Capacity/Type
3	KSG-IWF-15WFY8K1M32	1.5HP Wall Mounted Inverter
3	KSG-IWF-25WFY8K1M32	2.5HP Wall Mounted Inverter
2	KSG-IWF-20WFY8K1M32	2.0HP Wall Mounted Inverter
2	KLG-IF40-5G1M32	4.0HP Floor Standing Inverter
1	KSG-IWF-10WFY8K1M32	1.0HP Wall Mounted Inverter

Location/s: ENTRANCE / MAIN DOOR Are	rea: 12.0	00 sqm.	
--------------------------------------	-----------	---------	--

ACU #: 1 Unit Model: KSM-IW15-WCT10M1M32 Unit Capacity/Type: 1.5HP Wall Mounted Inverter

Estimated Pipe Length = 12 ft

Estimated Royal Cord Length = 17 ft

Initial Charge

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

resting and Commisioning				
Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	1/2"Ø x 1/4"Ø	2 ft	₱350.00 /ft	₱ 700.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	7 ft	100.00 /ft	700.00
Circuir Breaker Weather Proof	20Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges ₱ 10,050				10,050.00

Location/s: **GUEST ROOM** 14.00 Area: sqm. KSM-IW15-WCT10M1M32

Estimated Pipe Length 20 ft Estimated Royal Cord Length 25 ft

Unit Model:

Initial Charge

10ft Copper tube

2

10ft Royal Cord

ACU #:

Outdoor bracket Wall/Floor

Consumables

Testing and Commisioning

		_		
Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	1/2"Ø x 1/4"Ø	10 ft	₱ 350.00 /ft	₱ 3,500.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	15 ft	100.00 /ft	1,500.00
Circuir Breaker Weather Proof	20Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges			₽	13,650.00

Location/s: MUSIC ROOM Area: 30.00 sqm.

ACU #: 3 **Unit Model:** KSG-IWF-25WFY8K1M32 Unit Capacity/Type: 2.5HP Wall Mounted Inverter

Estimated Pipe Length 22 ft

Estimated Royal Cord Length 27 ft

Initial Charge

8,500.00

7,500.00

Unit Capacity/Type: 1.5HP Wall Mounted Inverter

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 1/4"Ø	12 ft	₱ 400.00 /ft	₽ 4,800.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	ft	100.00 /ft	1,700.00
Circuir Breaker Weather Proof	30Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges		!	₽	16,150.00

 Location/s:
 DINING ROOM
 Area:
 37.00 sqm.

 ACU #:
 4
 Unit Model:
 KLG-IF40-5G1M32
 Unit Capacity/Type:
 4.0HP Floor Standing Inverter

Estimated Pipe Length = $\frac{30}{35}$ ft Estimated Royal Cord Length = $\frac{30}{35}$ ft

10ft Copper tube

10ft Royal Cord

Indoor bracket (floor)

Consumables

Testing and Commisioning

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 3/8"Ø	20 ft	₱400.00 /ft	₱ 8,000.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	25 ft	100.00 /ft	2,500.00
Circuir Breaker Weather Proof	40Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges		•	₽	22,650.00

Location/s: WIC Area: 21.00 sqm.

ACU #: 5 Unit Model: KSG-IWF-20WFY8K1M32 Unit Capacity/Type: 2.0HP Wall Mounted Inverter

8,500.00

Estimated Pipe Length = 29 ft

Estimated Royal Cord Length = 34 ft
Initial Charge

_

10ft Copper tube 10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	1/2"Ø x 1/4"Ø	19ft	₱350.00 /ft	₱ 6,650.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	24 ft	100.00 /ft	2,400.00
Circuir Breaker Weather Proof	30Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges			₽	18,700.00

 Location/s:
 MATERS BEDROOM
 Area:
 49.00 sqm.

 ACU #:
 6
 Unit Model:
 KLG-IF40-5G1M32
 Unit Capacity/Type:
 4.0HP Floor Standing Inverter

Estimated Pipe Length = $\frac{43}{48}$ ft Estimated Royal Cord Length = $\frac{43}{48}$ ft

Initial Charge

₱ 11,000.00

10ft Copper tube

10ft Royal Cord

Indoor bracket (floor)

Consumables

Testing and Commissioning

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 3/8"Ø	33 ft	₱400.00 /ft	₱ 13,200.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	38 ft	100.00 /ft	3,800.00
Circuir Breaker Weather Proof	40Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges		·	₽	29,150.00

Location/s: BEDROOM 1 **Area:** 19.50 sqm.

ACU #: 7 Unit Model: KSG-IWF-20WFY8K1M32 Unit Capacity/Type: 2.0HP Wall Mounted Inverter

8,500.00

Estimated Pipe Length = 43 ft

Estimated Royal Cord Length = 48 ft

Initial Charge

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	1/2"Ø x 1/4"Ø	33ft	₱350.00 /ft	₱ 11,550.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	38 ft	100.00 /ft	3,800.00
Circuir Breaker Weather Proof	30Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges		'	₽	25,000.00

BEDROOM 2 Location/s: 15.00 Area: sqm.

ACU #: 8 Unit Model: KSG-IWF-15WFY8K1M32 **Unit Capacity/Type:** 1.5HP Wall Mounted Inverter

Estimated Pipe Length 29 ft Estimated Royal Cord Length 34 ft

Initial Charge 7,500.00

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Testing and Commisioning

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	3/8"Ø x 1/4"Ø	19 ft	₱ 350.00 /ft	₱ 6,650.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	24 ft	100.00 /ft	2,400.00
Circuir Breaker Weather Proof	20Amps / 1Ph	pc	1,000.00 /pc	1,000.00
PVC Pipe	Ø3/4" x 10'	pc	150.00 /pc(s)	150.00
Estimated Charges	-	₽	17,700.00	

Location/s: MAIDS ROOM Area: 9.00 sqm.

ACU #: 9 **Unit Model:** KSG-IWF-10WFY8K1M32 Unit Capacity/Type: 1.0HP Wall Mounted Inverter

7,500.00

Estimated Pipe Length 30 ft

Estimated Royal Cord Length 35 ft

Initial Charge

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

	1			
Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	3/8"Ø x 1/4"Ø	ft	₱350.00 /ft	₱ 7,000.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	25 ft	100.00 /ft	2,500.00
Circuir Breaker Weather Proof	20Amps / 1Ph	pc	1,000.00 /pc	1,000.00
Estimated Charges		-	₽	18,000.00

 Location/s:
 LIVINGROOM
 Area:
 44.00 sqm.

 ACU #:
 10
 Unit Model:
 KSG-IWF-25WFY8K1M32
 Unit Capacity/Type:
 2.5HP Wall Mounted Inverter

Estimated Pipe Length = $\frac{28}{33}$ ft Estimated Royal Cord Length = $\frac{33}{31}$ ft

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Testing and Commisioning

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 1/4"Ø	18ft	₱ 400.00 /ft	₱ 7,200.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	23 ft	100.00 /ft	2,300.00
Circuir Breaker Weather Proof	30Amps / 1Ph	pc	1,000.00 /pc	1,000.00
Estimated Charges			₽	19,000.00

 Location/s:
 LIVINGROOM 2ND
 Area:
 44.00
 sqm.

 ACU #:
 11
 Unit Model:
 KSG-IWF-25WFY8K1M32
 Unit Capacity/Type:
 2.5HP Wall Mounted Inverter

Estimated Pipe Length = $\frac{30}{35}$ ft Estimated Royal Cord Length = $\frac{30}{35}$ ft

Initial Charge

₱ 8,500.00

10ft Copper tube

10ft Royal Cord

Outdoor bracket Wall/Floor

Consumables

Installation Materials	Specification	Qty	Price per qty	Subtotal
Insulated Copper tube	5/8"Ø x 1/4"Ø	ft	₱ 400.00 /ft	₱ 8,000.00
Royal Cord (Comm wire)	2.0 sq.mm x 4c	25 ft	100.00 /ft	2,500.00
Circuir Breaker Weather Proof	30Amps / 1Ph	pc	1,000.00 /pc	1,000.00
Estimated Charges			₽	20,000.00

Total Estimated Charges

₱ 210,050.00

NOTATION

Mounting/Installation of FCU and ACCU to designated and approved location.

lay-out of new refrigerant copper piping with rubber insulation.

lay-out of communication control wire with electrical pipe conduit.

installation of consumable materials such as nuts, clamps, bolts, tapes, drain pipes to complete installation works.

Flushing and Leak testing of entire unit using nitrogen gas.

Vacuuming of entire system using vacuum pump to free the system from moisture and air.

Charging of freon if needed, test run, observation and commissioning of unit.

Mobilization and demobilization.

Start-up checklist documentation of unit to be submitted to supplier for warranty purposes.

Mode of Payment:

* 50% - Down payment

* 30% - Progress billing

* 20% - Upon Completion

BDO CHECKING ACCOUNT: 013798000969

GODSPEED REFRIGERATION AND AIRCONDITIONING SERVICES

Conform Prepared By:

Bonnevie Chan Ruiz	
ADMIN	OWNER/ REPRESENTATIVE